3. Coding & Decoding

NUMBER/SYMBOL CODING

" In these questions, either numerical code values are assigned to a word or alphabetical code letters are assigned

to the numbers. The candidate is required to analyse the code as per the questions.
The letters and numbers would be correlated to each other in either of the following ways :
(1) Direct coding. :
{2) In relation to the position of letters in English alphabet.
Solved Examples

Ex.1 If PAINT is coded as 74128 and EXCEL is coded as 93596, then how would you encode ACCEPT?

Sol.

Clearly, in the given code, the alphabets are coded as follows
PAINTEXCL

74128935@6
So, in ACCEPT, A iscoded as 4, cas 5, Eas 9, Pas 7 and TasS Hence, the correct code is 455978

Ex.2 Ina certain code, RAIN is written as 8 $%6 and MORE is written as 7 #8@. How is REMAIN written in that code?

Sol.

(1) #@7 $%6 .. (2) #@&$%6 U@ Terswe T T 8e78%6
Letters R A o
Y

+++++$
Code 8 $§ % 6 7 #

Thus, the code for REMAIN is 8@7$%6. Hence (4) is the answer.

Ex.3 If PALAM could be given the cade number 43, what code number can h? given to SANTACRUZ ?

Sol.

(1) 75 (2) 85 (3) 120 (4) 123
(4): In the given code, A=1, B=2, C=3,....cocc0errrrer. 2=2.

So PALAM~16+1+12+1+13 =43

Similarly, SANTACRUZ=19+1+14+20+1+3+18+21+26-123.

Ex.4 f GO = 32, SHE = 49, then SOME will be equal to -

Sol.

(1) 56 (258 (3)62 (4) 64

Using the pattern,
"B G L QV

Y Y v v
25 20 15 10 5

The word Go can be

Coded as

G O

v v

20+12 =32
and SHE as

S H E

V. V. ¥

8 +19+22 =49 ,
Similarly, SOME can be coded as

M E '
% # vy

8 +12+14+22 56

Hence, (1}is the answer.



LETTER CODING

In these questions, the letter in a word are replaced by certain other letters according to a specific rule to form
its code. The candidate is required to detect the coding pattem/rule and answer the questions accordingly.

The letters and codes would be related to each other in either of the following ways :—

{1) Direct coding.. .

{2) Movement of letters relative to their position in English alphabet.

(3) Reordering of letters. . 7 |

So!ved Examples

Ex.5 If the word EARTH be written as QPMZS in coded form, how can be HEART be written in that code?
{1) SQPZM , (2) SQMPZ .(3) SPQZM {4) SQPMZ

Sol. We have, ' '

letter E A R T H
oY v Y 4y
Code Q PiM VA
- Sothe code fo;_‘L:!TJ\RI' becomes SQPM7
Hence, (4) is thé answer.

Ex.6 }finacertain }anguage MYSTIFY is coded as NZTUJGZ, how is NEMESIS coded in that Ianguage?
“Sol. Clearly, each ietter in the word MYS’I'IFY is moved one step forward to obtain the

corresponding | letter of the code.

M.YSTIFY

+Ll _ |

NZTUJGZ
: So, in NEMESIS, N will be coded as O, Eas F, M as N and so on. Thus, the code becomes OFNFTJT.
© Ex.7 Inacertaini code, SIKKIM is writfen as THLJIL. How'is TRAINING written'in that code? T
(1)SQBHOHOH ~ (2) UQBHOHOF {3) UQBJOHHO @ UQBJOHOH

Sol.

S 1 KK 1 M
n+4++u;u+u>u

Clearly, the letters in the word SIKKIM are moved a temateiy one step fom ard and then one step backward to
obtam the letters of the code. '

Simiiarly, 'TRAINING‘ can be coded as 41{% —12 +1§ _1{& Hzg "lt{ ""% ”1!{[
Hence {2) is thé;:;answer. - e .
LT SUBSTITUTION
In these questlons some particuiar words are assxgned certam :,ubshtuted names Then a quesﬁon is asked that k

is fo be answered in the subsmuted code language.
Solved Exampies -

Ex.8 A'train'is called ‘bus’, bus'is s called 'tractor’, tractor'is called 'car’, ‘car'is-called scobtér‘ "Sgoofér' 15 called ‘biéycle',
bieycle' Is calied 'moped’, which is used to plough a 'fleid ? o :
(1) Train E {2) Bus ! (3) Tractor (4) Car
Sol. A tractor i is used to plough the field. But a tractor is called:carso, a car wﬁ be-used to plough the ﬁeiv

Hence (4} is the answe



Ex.9 If 'sky'is called 'sea’, 'sea' is called-'water’, water is called air’, ai is called ‘cloud and-cloud is called " river', then

what do we drink when thirsty? C
(1}Sky {2} Air A (3) Water {4) Sea
When we feel thirsty we drink water, and water is called air. Thus one would drink air.

Hence (2) is the answer.

DECIPHERING MESSAGE CODES

. In these type of questions, some messages are given in the coded language and the code for a particular word

or message is asked. To analyse such codes, any two messages bearing a common word are picked up. The
common code-word will thus fepresent that word. Proceeding similarly by picking up all the possible
combinations of two, the entire message can be decoded and the codes for individual words found.

Solved Examples

Ex.101In a certain code, 'Kit Mit Fit' means ' Am Laborious', Zit Rit Kit' means Laborious Is Dangerous and ‘Sit Fit' Rit

Sol,

“ e e e o

Sol.

Similarly, from {i) and (iii), we can'decipher’ 6 meairis bring” "

x..ans ‘Dangerous Extremely Painful’ then in that language what is code for Is?

(1) Kit (2) Zit (3Rt (4) Data inadequate

In (i} and (i), common word is iLaboriousl' ’and ‘the common code is Kit'.
= 'Kit means ‘Laborious’ =~ O : - -

: : L1
Similarly, from (if) and (i), we can decapher ‘Rit' means 'Dangerous : '

So, in (i), the code: Ieft is 'th and the word left is Is Hence, the code for 'Is' is ‘Zit'

" Hence {2)is the answer. :
Ex 11In a certain code '786' means 'bring apple me', ‘958’ means 'cut green apple and 645 means bring green fruit’

then which one of the following is used for 'me'? ;
(1) 8 26 37 - (4) Data madequ‘ate

In (1) and (i}, common word is appie and the common code is 8

= 8 means 'apple’

Now, in {i} the word left is 'me" and the co_de leftis 7
= code for me'is 7.
Hence (3) is the answer.
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_— 7 EXERCISE

1. Iinanycode language TARGE{ is coded as UYlfClaU then which word is coded as VICTORY in that language ?

(1) UKZXJXR ~ (2) UKYXJDR (3) UKYXJWD {4) None
2. Ifina certain code MANISH is written as P#zM%HSg then how will 5Ai‘i\{l;§A‘ be written in the same code ?
\UMRGZ (2) IZMPRGZ (3) IZMQRHZ _ {4) IZMQRIZ
3. If MENTAL is written LND%(%%%J\%&I?& then how would TEST be written in that code ?
(1) UVFGTHV—» (2) RSCDQRRS (3) SUDFRQRSM W SU
4. IfHERCULES s coded as JCTAWJGQ, then what is the code for APHORDITE ?
(1) CNMJTBKRG (2) CNJMTBKSG (3) CNJMTBKRG (4) CNJMTCKRG
5. I BOXis coded as CDPQYZ what will be the last two letters of word in the same code for HERO ?
HNM (2)M, N (3)P.Q @Q.P
6. IfIMPORTis wntten USPQNJ then how will CAPITAL be written in this code ? o ,
(1) MBUJQBD, (@KZSHOZB (3 MUBBDQ (4) MBQJUBD
7. IfXY= 600 ABC 6 than, GO + DO will'be equal to :
| (1150 - (2)180 @65 . @155
8. IfANCEiscodedasS 7,29; 11 then BOIL willbe coded as : ~ * N
(1)5, 31, 21, 25 (2)5, 31,19, 25 (35,29, 19, 25 v. {4)5,29,19,17
9.  If ADARSHIis codded as 53, SCHOOL is codded as 66 then the word STUDENT will be coded as :
moeo - @97 T s . w9 -
10. Inacertain code KAMAL is written as 29894 VIJAY is written as 35196, then the word VIMAL will be coded :
as . »
(1) 29196 {2) 35894 . (3) 35194 - {4} 35196
11. If DEAR is coded as 7 and BEARS as 9, what should be the code for WAX ?
(1) 10 @12 @16 @10

12. ffairis cailed water water is called green, green is ralled dust, dust is cafled yellow and yellow is called cloud,
which of the fo!!owmg does fish live in ? »
(1) Air ﬂjj (2) Water (3) Green  + @Dust -
13, IHfrainsis calied pink, pink in called cloud, cloud is called water, water is caﬂed breeze and breeze is called
' meon, what dg you wash your hands with ? - » :

(1) Water ) Ram (3 Breeze '  {4Moon

14. Inacertain XZ}V means he is bright, FCZO means every lawn is green, and OQCN means every wal! was
green. thch of the following does mean every lawn is bright-in that. code 2 e S
()ZTOM - @cxzt - @xotZz .. @ Cannot be dete—mmed

15. Inacertail coJe !anguage Pat Zoo Sim means £at Good Mangoes. Pus:Sim Tim means Mangoes And waeeu
and Tim Zoo Kjt means Purchase Cood Sweets. Which word in the language means Good ? s

: fk - ?91 PLQ . . {3 Sim } " (4) Tm .

(1) Zoo



16.
17.

18.

19.

20.
21.

22,

23.
24,

25.

T3 a cértain code 786 means study very-hard, 958 means hard.work pays and 645 means study and work.
Which of the following is the code for very' ?

(18 : 2)6 - 37
If 'men are very busy' means 1234, 'busy persons need encouragement’ means 4567, ‘encouragement is very
important' means 3589 and ‘important persons are rare’ means 2680 what is the code for ‘encouragement’

{4) Cannot be determined

(15 : {2)6 (3)8 4)9
In a certain code, '37' means ‘which class' and '583' means 'caste and class'. What is the code for ‘caste”?
(1)3 27 (38 {4) Either 5or 8

In a code language 'Sh Me Ya' means ‘Rock Then Young' and 'Me Yo Na Ya' means 'Wise Young Sharp Rack'.
Which code represents Then' in the given code language? v .

(1) Ya (2) Me {3)Sh {4) Cannot be determined
Direction (Q.20 to Q.22) : Ina certain code language

{8) "im jee loo" means 'you did it'

(b) "joo ip am" means ‘how are things'

{c) "loo sam" means ‘you 'sing' )
(d) "am pee joo" means ‘things are sweet'. ©
Which of the followlng Is the code for ‘how™?

(1) joo @ ip 0 @am (4) Cannot be determined

What is the code for 'you sing sweet? N )

(1) loo sam am .. (2)loo pee joo (3) pee sam loo " {4) Cannot be determined- -
. Which of the following is the code forit? o ' ‘

{1)im T @ee : (3)loo (4) Cannot be deterrined

Directions (Q.23 to Q.25): The number in each question below is to be codified in the following code:
e 7 7 IDigit] 7 V2711 1513 {"9°18| 614 oo S

i jLetterf W| L {M|{S|{1|N|D|J|B :

184632 _ . - A

(1) MDJBSI . (2MDBLL (3) MDJBWL " (4)MDBJL

879341 1 - o

(1) DWNIBS "~ - (2)DWNBIM {3)DWNIBM (4) NDWBIM

64928 ' S | :

() BNLD  (2JBIND  (BINLD (4 DBNLS




